Topic 11.1 - Understanding Percent

Percent — a special kind of ratio in which the first term is compared to 100.

1. Use agrid to model the percent
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2. Use number lines to model the percent
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Use a proportion to find the percent (m i ;oo
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Topic 11.2 - Fractions, Decimals, and Percents

How are fractions, decimals, and percents related to one another?

Fractions, decimals, and percents are three ways to show portions of a whole

A percent compares a number to 100, so you can write 30% as a fraction and a decimal
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Use decimal place value to write the decimal 0.10 as a fraction and a percent
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How can you change a fraction to a decimal and percent? %
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Topic 11.3 - Percents Greater Than 100 or Less Than 1

How can you express percents greater that:lOO?
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How can you express percents less than 17
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Topic 11.4 - Estimating Percent

How can you use fractions to estimate percents?

- You can use fraction equivalents and compatible numbers to estimate the percent of a number.
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Use these benchmark percents and their fraction equivalents to help you estimate.

Percent | 10% | 20% | 25% | 33% | 50% | 66%% | 75%
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Topic 11.5 - Finding the Percent of a Number

1. Estimate:
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Topic 11.6 - Finding the Whole
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1. Use number lines to model the relationship.
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Topic 11.7 - Problem Solving: Reasonableness

The original price of a bicycle was $150. The bike went on sale for 10% off the original price.

1.
The bike didn’t sale, and the sale price was raised by 10%. What is the final price of the bicycle?
- It was calculated that the final price is $150. Is this answer reasonable? Why or why not.
- After you solve the problem, look back and check the answer.
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2. David wants to buy a sweater for his mother. The original price of the sweater was $65. The
store is having a sale in which all sweaters are 20% off. What is the sale price of the sweater?

The sale price is $52. Is this answer reasonable? Why or why not.
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